



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 2nd Semester, Section B, Morning, Session Autumn 2025

Registration #	Name	CS111					CSC 104					CSC-303					CSC304					CSC-305					GE161				
		Programming Fundamentals (C)					Social Sciences (Urdu)					Object Oriented Programming					Digital Logic Design					Discrete Structures					Application of Information & Communication Technologies				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2025-M-B-0001	Abdul Latif *	-	-	-	-	75	B+	3.5	3	10.5	63	C	2.0	4	8.0	55	C	2.0	3	6.0	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	
B.S CS SP-2025-M-B-0002	Abdul Samad	-	-	-	-	65	C+	2.5	3	7.5	50	D	1.5	4	6.0	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-B-0003	Ahmad Noor	-	-	-	-	70	B	3.0	3	9.0	71	B	3.0	4	12.0	55	C	2.0	3	6.0	28	F	-	3	-	-	-	-	-	-	
B.S CS SP-2025-M-B-0004	Aqsa Zaheer	-	-	-	-	70	B	3.0	3	9.0	55	C	2.0	4	8.0	50	D	1.5	3	4.5	60	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-B-0005	Bushra Bibi	-	-	-	-	72	B	3.0	3	9.0	70	B	3.0	4	12.0	65	C+	2.5	3	7.5	80	A	4.0	3	12.0	-	-	-	-	-	
B.S CS SP-2025-M-B-0006	Ejaz Ahmad *	-	-	-	-	80	A	4.0	3	12.0	61	F	-	4	-	46	F	-	3	-	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S CS SP-2025-M-B-0007	Fahad Naseer Abbasi	-	-	-	-	70	B	3.0	3	9.0	71	B	3.0	4	12.0	50	D	1.5	3	4.5	55	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-B-0008	Farhan Ullah * (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-B-0009	Hamza Mumtaz	-	-	-	-	69	C+	2.5	3	7.5	55	C	2.0	4	8.0	50	D	1.5	3	4.5	22	F	-	3	-	-	-	-	-	-	
B.S CS SP-2025-M-B-0011	Huzaifa Zahoor	-	-	-	-	80	A	4.0	3	12.0	59	C	2.0	4	8.0	55	C	2.0	3	6.0	35	F	-	3	-	-	-	-	-	-	
B.S CS SP-2025-M-B-0012	Inayat Ullah *	-	-	-	-	67	C+	2.5	3	7.5	77	B+	3.5	4	14.0	50	D	1.5	3	4.5	70	B	3.0	3	9.0	-	-	-	-	-	
B.S CS SP-2025-M-B-0013	Jawariya Bibi *	-	-	-	-	80	A	4.0	3	12.0	76	B+	3.5	4	14.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	-	
B.S CS SP-2025-M-B-0014	Kashaf Zahra *	-	-	-	-	70	B	3.0	3	9.0	59	C	2.0	4	8.0	65	C+	2.5	3	7.5	60	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-B-0015	Laiba Tariq	-	-	-	-	66	C+	2.5	3	7.5	57	C	2.0	4	8.0	56	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-B-0016	Mahad Tasasdduq	-	-	-	-	71	B	3.0	3	9.0	55	C	2.0	4	8.0	51	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-B-0017	Minahil Roshni *	-	-	-	-	75	B+	3.5	3	10.5	70	B	3.0	4	12.0	57	C	2.0	3	6.0	70	B	3.0	3	9.0	-	-	-	-	-	
B.S CS SP-2025-M-B-0018	Momina Naeem	-	-	-	-	65	C+	2.5	3	7.5	65	C+	2.5	4	10.0	50	D	1.5	3	4.5	55	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-B-0019	Muhammad Aftab	-	-	-	-	70	B	3.0	3	9.0	80	A	4.0	4	16.0	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-	-	
B.S CS SP-2025-M-B-0020	Muhammad Aman Idrees	-	-	-	-	68	C+	2.5	3	7.5	66	C+	2.5	4	10.0	50	D	1.5	3	4.5	61	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-B-0021	Muhammad Ayan Zafar *	-	-	-	-	75	B+	3.5	3	10.5	75	B+	3.5	4	14.0	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S CS SP-2025-M-B-0022	Muhammad Hammad Nawaz (With	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-B-0023	Muhammad Hamza Mujahid	-	-	-	-	65	C+	2.5	3	7.5	50	D	1.5	4	6.0	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-B-0024	Muhammad Kaif Abid *	-	-	-	-	80	A	4.0	3	12.0	55	C	2.0	4	8.0	55	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-B-0025	Muhammad Shameer Khan	-	-	-	-	70	B	3.0	3	9.0	77	B+	3.5	4	14.0	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	-	-	-	-	-	
B.S CS SP-2025-M-B-0026	Muqadas Naz *	-	-	-	-	71	B	3.0	3	9.0	66	C+	2.5	4	10.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S CS SP-2025-M-B-0027	Mushyyad Zameer Abbasi	-	-	-	-	70	B	3.0	3	9.0	66	C+	2.5	4	10.0	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S CS SP-2025-M-B-0028	Ramal Binte Amir	-	-	-	-	80	A	4.0	3	12.0	88	A	4.0	4	16.0	55	C	2.0	3	6.0	85	A	4.0	3	12.0	-	-	-	-	-	
B.S CS SP-2025-M-B-0029	Rana Muhammad Faneez	-	-	-	-	66	C+	2.5	3	7.5	57	C	2.0	4	8.0	55	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-B-0030	Saba Naz	-	-	-	-	72	B	3.0	3	9.0	70	B	3.0	4	12.0	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 2nd Semester, Section B, Morning, Session Autumn 2025

		GE266					GE269					HUM 304					HUM- 401					MT243					NC102				
		Islamic Studies / Ethics					Applied Physics					Expository Writing					Ideology & Constitution of Pakistan					Probability & Statistics					Pre- Cal 2				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2025-M-B-0001	Abdul Latif *	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	80	A	4.0	2	8.0	-	-	-	-	-	53	D	1.5	3	4.5	
B.S CS SP-2025-M-B-0002	Abdul Samad	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	81	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-B-0003	Ahmad Noor	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	59	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-B-0004	Aqsa Zaheer	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	90	A	4.0	2	8.0	55	C	2.0	3	6.0	-	-	-	-	-	-
B.S CS SP-2025-M-B-0005	Bushra Bibi	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	75	B+	3.5	2	7.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-B-0006	Ejaz Ahmad *	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	71	B	3.0	2	6.0	-	-	-	-	-	74	B	3.0	3	9.0	
B.S CS SP-2025-M-B-0007	Fahad Naseer Abbasi	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	89	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0008	Farhan Ullah * (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-B-0009	Hamza Mumtaz	70	B	3.0	2	6.0	-	-	-	-	66	C+	2.5	3	7.5	80	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0011	Huzaifa Zahoor	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	84	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0012	Inayat Ullah *	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	70	B	3.0	2	6.0	-	-	-	-	-	81	A	4.0	3	12.0	
B.S CS SP-2025-M-B-0013	Jawariya Bibi *	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	93	A	4.0	2	8.0	-	-	-	-	-	62	C	2.0	3	6.0	
B.S CS SP-2025-M-B-0014	Kashaf Zahra *	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	89	A	4.0	2	8.0	-	-	-	-	-	61	C	2.0	3	6.0	
B.S CS SP-2025-M-B-0015	Laiba Tariq	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	80	A	4.0	2	8.0	37	F	-	3	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0016	Mahad Tasasdduq	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	82	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0017	Minahil Roshni *	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	88	A	4.0	2	8.0	-	-	-	-	-	53	D	1.5	3	4.5	
B.S CS SP-2025-M-B-0018	Momina Naeem	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	81	A	4.0	2	8.0	50	D	1.5	3	4.5	-	-	-	-	-	-
B.S CS SP-2025-M-B-0019	Muhammad Aftab	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	88	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0020	Muhammad Aman Idrees	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	80	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0021	Muhammad Ayan Zafar *	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	86	A	4.0	2	8.0	-	-	-	-	-	58	C	2.0	3	6.0	
B.S CS SP-2025-M-B-0022	Muhammad Hammad Nawaz (With	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-B-0023	Muhammad Hamza Mujahid	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	81	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0024	Muhammad Kaif Abid *	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	82	A	4.0	2	8.0	-	-	-	-	-	52	D	1.5	3	4.5	
B.S CS SP-2025-M-B-0025	Muhammad Shameer Khan	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	85	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0026	Muqadas Naz *	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	86	A	4.0	2	8.0	-	-	-	-	-	51	D	1.5	3	4.5	
B.S CS SP-2025-M-B-0027	Mushyyad Zameer Abbasi	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	81	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0028	Ramal Binte Amir	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	88	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0029	Rana Muhammad Faneez	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	76	B+	3.5	2	7.0	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-B-0030	Saba Naz	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	82	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



